Homework: Chapter 5 Review

Chapter 5 Test Format: 25 multiple choice, $ vocabulary matching, 5 scientist matching, 5
chart, 2 average atomic weight, and 3 nuclear reactions. s

lete the following multiple choice questions,
1. How many protons, neutrons, and electrons are in a neutral atom of sodinm?
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© 2. Which of the following describes what takes place when iron (Fe®) becomes Fe**

ions? ( elettons )
A A gain of two electrons 4o become 2+ +wo NECETI PO
A loss of two clectrons muty e \ost

A gain of two protons

D A loss of two protons

L) 3. Which scientist was the first to conclude through experimentation that atoms have
positive charges im their nuclei?
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Q4. Three clements, X, Y, and Z, have consecutive numbers. If element
X is a noble gas, what will be the symbol for the ion of element Z in its compounds?
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(B A proton is gained. n B[T? 'S il |
B An electron is gained. k'k -1
C A neutron is lost.
D The electron cloud size is decreasing. [ )
f0.6. Radioactive iodine-131 has a haif-Efe of eight days. The amount of & 200.0 gram
sample left after 32 days would be —
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,Q_T. Which of these conciusions can be draws from Rutherford’s experiment?
A  Each stom contains clectrons.
B The sucleus of an stom can be split.
C Each atom contsins protons.

@ Atoms are mostly empty space.

Q’- How dees the C-14 differ from its stable counterpart C-127 Ipdmt
A It has & different number of protons and two less neutrons than C-12. - N i
B It has the same number of protons and two more electrons thas C-12. \SO’fOQQ dferent3td
(C©) 1t has the same number of protons but two more neutrons than C-12,

D It has a differont number.of protons snd two more neutrons than €-12. NS
QLD. Atoms of the same clement must — MusT, MUST, MUST- —— ALwiy g

A conisin the same number of neutrons -

B have the same mass oumber %ol}prmns=\dumjo¥w

CC O contain the same number of prosons
D have equal sumbers of protons and nestrons

D_ll. Chiorine forms a 1~ ion. How many electrons does s chloride ion have?
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&u. Isotopes of am clement have different —
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C_/IJ. Which of these elements contains four valence electrons?
A  Helium

Beryllium cemember You Can use peviadic 4alde tokird
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P* + - must be same.

13 electrons, 13 protons, and 14 neutrons Par_'_n* = poas

@ 14 protons and 13 neutrons
13 electrons, 14 protons, and 13 neutrons

Cations are formed when neutral atoms lose —
electrons
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16. The stomic number corresponds to an stom’s number of —
\A ) protons
neutrons
C clectrons
D positrons

&11. How many valence electrons does & neutral atom of silicon have?
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Element Protons Neutrons Electrons

1 20 20 20

2 M 4 40

3 20 10 10

4 20 20 40

X 18. Which represents an stom of cakcium?

Ao ® = ¥ o prstens
P‘r = & W newvo)

mosH = p* s
muwumwum
8 0
Huwmﬂmhtﬁhiﬂg?

CPOSS .
\0\6# SR v eRons
6‘:\- W\\L‘&



Stlar Jygican rmm Bm;n‘h :or "

{2_26. The net chargs on an almminum ion s 3 becanse there are —
A 10 protons and 13 electrons in the atom _ —
B 13 protons and 10 neutrons in the mucleus L0 = HP —HE
10 neutrons and 13 electrons in the stom ¥ 12 — ke #e=1D
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()21. One indiestor that electrons in atoms are limited to specific energy levels is that —
A atoms move faster when heated
B the light given off by atoms is all at the same wavelength
the Doppler effect shows a shift in wavelength for H-atom light
@ light emitted from excited atoms gives off specific amounts of energy < — Yememper

22. Which of the following describes a proton? Gon's Swae
charge of 1+ and a mass of 1 amu [
charge of 1+ and no mass _5_'

C No charge and a mass of 1 amu N \ L';-

D No charge and no mass e o -

23. Which of the following would represent an isotope of:
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Fill in the following chart for the scientists that discovered the atom and its parts.
Scientist What he found. | His Experiment How you are
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Complete the following “p, n, e chart.
Name | Symbol | Atomic | Mass | Protons | Neutrons | Electrons

Number | Number|'
=
29. | Carbon-13 C
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Determine the average atomic weight of the following elements.

34. Zinc: 35. Sulfur:
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Write the nuclear reaction equations for the following elements.
35. The alpha decay of neptunium-237 (Np).
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36. The beta decay of radium-227 (Ra).

, - ¥
e B gaiqf*c—““-/&

\m.m_ (oot % %) + (rosnte; x‘2~>+(mm¥’s %)
Wy, T



s P Al = didann Sow Wdust o e’

| ® b & 23. \E=wmm%md3rukmmi

v e (g Doyl €7

»C 26 BN odoma oltivd ST

¥ C 13 B e”wmmmhﬂ\gmﬂt

5D (v & B0 eBE 2LBD

LA R ARD 2D 28R

10 bR o 3oty = M,m
1R ble G- Condarcties A ol

%'pf 32k el B ’
\3(/ Ny o ¢W

9 \q & 3t MMJRX'

20 A mnnmwhwﬁbamw%pr

33.%&&(



